Question Booklet No.

Question Booklet Series

ToT-Yfaeht @i
@m Bookdet

Examination, June - 2024
ENVIRONMENTAL STUDIES
(THTETTT 3TT)
(To be filled in by the Candidate/f=1 gftrat wdtarmeff @& o)

Scholar No. (in figures)
ThIeR T&AT (3T H)

Scholar No. (in words)
THie T (F=al H)

Examination Center Code

T s IS

Signature of Invigilator
fréteres o sxaiar
[ Maximum Marks : 100

[ STfeRad 37 : 100

Time : 3 Hours ]

THY : 390

TP-4

INSTRUCTIONS FOR CANDIDATES

Do not open the booklet unless you are asked
to do so.

The booklet contains 100 questions.
Examinee is required to answer all questions
in the OMR Answer-Sheet provided and not
in the Question Booklet. Each question
carries 1 mark. There is no negative marking.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty Question Booklet due to missing or
duplicate pages/questions or having any
other discrepancy should be immediately
replaced.

(Remaining instructions on last page)

QES Exam June - 2024

wenterEt & fom frder

J99-Jf&Teh1 ol 6 Toh 1 Tt ST6l qoh 3TTIH hal
A9

TY-gfEdeRt | 100 U9 ¥ | adtene s el goei
! Thael <1 TE OMR ST-USeh W & g1 Ll

¥, IA-gf&deh T e | T T 1 37k 1 T |

FRUIH ek 1 AL T8l § |

Tl & IW 3AfRd L § T4 TeA-gRETeRT ao
OMR ST -UTeh ! HEHTHIYEw 3@ of | Srorgof
e-gfert fSToH s 9 BT ¥ we T A
T ¥ AfYs IR B9 T F A1 3HH fRE o
YR 1 HH 2, 3 T 98 o |

@ Frder 3ifam g W)

Set-C Contd.



‘Kho-Dariba’ is famous for :

(A) Gold

(B) Iron

(C) Asbestos

(D) Copper

Which of the following is not a process
of Anaerobic digestion of solid waste ?
(A) Acetogenesis

(B) Methanogenesis

(C) Hydrolysis

(D) Gasification

The crude birth rate is the annual number
of live birth per :

(A) 10,000 population

(B) 1,000 population

(C) 1,00,000 population

(D) 10,00,000 population

Which of the following is not an example
of Biogeochemical cycle ?

(A) Water cycle

(B) Climate cycle

(C) Carbon cycle

(D) Oxygen cycle

The discharge of warm water directly into
river is known as :

(A) Water pollution

(B) Marine pollution

(C) Thermal pollution

(D) River pollution

Biogas contains mainly :

(A) Methane

(B) Butane

(C) Propane

(D) CO,

Which of the following can act as a
pioneer species in Xerarch succession ?
(A) Lichen

(B) Herbs

(C) Fungi

(D) Humans
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The last factor of food chain is :
(A) Human

(B) Predator

(C) Decomposer

(D) Consumer

What percentage of world’s population
lives in India ?

(A) 18.20%
(B) 17.76%
(C) 16.67%
(D) 16.20%

Which is the largest district of Rajasthan
in term of area ?

(A) Jaipur

(B) Jodhpur

(C) Jaisalmer

(D) Barmer

The adverse effect of modern agriculture
is:

(A) Soil degration

(B) Water pollution

(C) Waterlogging

(D) All of these

Kyoto protocol signed in :

(A) Japan

(B) U.S.A.

(C) Canada

(D) China

Which of the following is not a criterion
of air pollutant ?

(A) Pb

B) SO,

(C) NO,

(D) VOCs

Where is the National Mustard Research
Center located ?

(A) Suratgarh

(B) Nokha

(C) Sewar

(D) Kotputali
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Father of green revolution is :
(A) M.S. Swaminathan

(B) Ramdeo Mishra

(C) Norman Barlog

(D) E.P. Odum

Which of the following minerals is not
found in Rajasthan ?

(A) Gold

(B) Copper

(C) Zinc

(D) Mica

What is Eutrophication ?

(A) Depletion of oxygen in water
(B) Increase of nutrients in water
(C) Excessive algal growth

(D) All of these

BOD in freshwater should not exceed
beyond the following :

(A) 5ppm

(B) 10 ppm

(C) 25 ppm

(D) 50 ppm

‘Save Narmada Agitation’ is connected
to:

(A) Medha Patkar

(B) Arundhati Roy

(C) Baba Amte

(D) Sunderlal Bahuguna

According to National Ambient Air
Quality Standards concentration of PM
should be less than :

(A) 80 pg/m?

(B) 100 ug/m?

(C) 120 ug/m?

(D) 60 pg/m?

Which ecosystem has characteristics of
rich diversity and dense vegetation ?

(A) Desert ecosystem

(B) Grassland ecosystem

(C) Aquatic ecosystem

(D) Tropical rain forest ecosystem
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What is the Sundarban known for ?

(A) Tropical rain forests

(B) Mangrove forest

(C) Himalayan region forest

(D) Deciduous forests

Which state in India is known for its rich
coal reserve ?

(A) Maharashtra

(B) Kerala

(C) Jharkhand

(D) Rajasthan

Which disaster is caused by tectonic plate
movement ?

(A) Hurricane

(B) Flood

(C) Tsunami

(D) Drought

What is Waste To Energy (WTE) ?

(A) Generating energy by burning
waste

(B) Using waste to produce biogas

(C) Transforming waste into usable fuel
(D) All of these

What is the role of carbon sequestration
in climate change ?

(A) Reduce carbon emissions

(B) Increase concentration of carbon
(C) Increase greenhouse gases

(D) None of these

Secondary pollutant is :

(A) SO,

(B) NO,

) CO

(D) None of these

The largest coal producing country in the
world is :

(A) India

(B) South Africa

(C) China

(D) United States of America
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Gajner lake is located in :

(A) Ajmer

(B) Bikaner

(C) Jaipur

(D) Barmer

The average salinity in sea water is about :
(A) 2.5%

B) 3.5%

(C) 45%

(D) 5.8%

Which of the following is not an example
of invasive species ?

(A) Water hyacinth

(B) Congress weed

(C) Captive breeding

(D) Mesquite

Which of the following is a biological
treatment method of waste ?

(A) Incineration

(B) Solidification

(C) Digestion

(D) Solution

Coliform can be detected by conducting :

(A) MPN Test
(B) TDS Test
(C) BOD Test

(D) COD Test

The principal bench of National Green
Tribunal located at :

(A) New Delhi

(B) Mumbai

(C) Kolkata

(D) Chennai

Concept of development without harming
the environment :

(A) Development

(B) Environmental conservation
(C) Sustainable development
(D) None of these
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When is Earth Day celebrated ?

(A) 20 March

(B) 22 April

(C) 5 June

(D) 12 August

Which of the following is not a cause of
air pollution ?

(A) Vehicle emissions

(B) Industrial emissions

(C) Afforestation

(D) Open burning of waste

What is the purpose of environmental
study ?

(A) Increase natural resources

(B) Harm humanity

(C) Analysis of natural environment
(D) All of these

Which of the following
management methods are correct ?

(A) Recycling

(B) Reuse

(C) Proper disposal

(D) All of these

Which of the following is not a source of
fossil fuels ?

(A) Coal

(B) Natural gas

(C) Solar energy

(D) Oil

What is the main cause of damage to
ozone layer ?

(A) Climate change

(B) Emission of CFCs

(C) Deforestation

(D) Ocean pollution

When is Ozone Day celebrated ?
(A) 16 September

(B) 17 September

(C) 16 June

(D) 17 June

waste
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Which of the following is not a green-
house gas ?

(A) Carbon dioxide

(B) Methane

(C) Oxygen

(D) Nitrous oxide

Which of the following is a renewable
energy source ?

(A) Coal

(B) Oil

(C) Nuclear energy

(D) Wind energy

Which of the following is not a natural
disaster ?

(A) Earthquake

(B) Tsunami

(C) Flood

(D) Nuclear explosion

What change did the green revolution
bring to agriculture ?

(A) Increased crop yield

(B) Export of agricultural products

(C) Increased use of pesticides

(D) All of these

What are the main causes of Biodiversity
loss ?

(A) Deforestation

(B) Illegal hunting

(C) Loss of habitat

(D) All of these

Which of the following is not a cause of
water pollution ?

(A) Industrial waste

(B) Agricultural waste

(C) Rainwater harvesting

(D) Domestic waste

What is an example of producer in a food
chain ?

(A) Lion

(B) Soil bacteria

(C) Plants

(D) Humans
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Main causes of soil erosion are :
(A) Overgrazing

(B) Deforestation

(C) Heavy rainfall

(D) All of these
Environment is :

(A) Closed system

(B) Open system

(C) Both (A) and (B)

(D) None of these
Environmental Protection Act came into
force in :

(A) 1974

(B) 1972

(C) 1984

(D) 1986

Smog is :

(A) O; and smoke

(B) Fog and smog

(C) Vehicle pollutants

(D) Fog and ozone
Pyramid of energy is always :
(A) Inverted

(B) Upright

(C) Both of these

(D) None of these

Central Pollution Control Board was
established in :

(A) 1970

(B) 1972

(C) 1974

(D) 1977

As per 2011 census, the lowest population
density was found in :

(A) Jaipur

(B) Jaisalmer

(C) Bikaner

(D) Churu

State tree of Rajasthan is :
(A) Neem

(B) Khejari

(C) Banyan

(D) Peepal
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Jaundice is caused by :

(A) Water pollution

(B) Air pollution

(C) Nuclear pollution

(D) Noise pollution

NEERI is located in :

(A) New Delhi

(B) Nagpur

(C) Chennai

(D) Jaipur

World Wetland Day is celebrated on :
(A) 2 February

(B) 2 May

(C) 2July

(D) 2 September

Highest limit of noise pollution is :
(A) 70 decibel

(B) 80 decibel

(C) 90 decibel

(D) 100 decibel

Minamata disease is related to :
(A) Pb

(B) Cd

(©) Hg

(D) Cu

Ecological pyramid concept was given
by :

(A) Charles Darwin

(B) Charles Elton

(C) Charles Babbage

(D) E.P. Odum

Khejarli village is situated in :
(A) Jaipur

(B) Bikaner

(C) Jodhpur

(D) Churu

State flower of Rajasthan is :
(A) Rohida

(B) Khejari

(C) Lotus

(D) Rose
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Jorbir is situated in :

(A) Jaipur

(B) Sikar

(C) Bikaner

(D) Churu

Kaziranga National Park is known for :
(A) Elephant

(B) Bison

(C) Rhinoceros

(D) Wild Buffaloes

Which of the following is Hotspot of
Biodiversity in India ?

(A) Eastern and Western Ghat

(B) Eastern Himalaya

(C) Sundaland

(D) All of these

The study of different population and its
trend is called as :

(A) Topography

(B) Demography

(C) Biography

(D) Geography

From which plant biodiesel is prepared ?
(A) Karonj

(B) Neem

(C) Jatropha

(D) Mahua

Ozone layer belongs to which of the
following layer of atmosphere ?

(A) Homosphere
(B) Stratosphere
(C) Troposphere
(D) Mesosphere

One of the ex-situ conservation methods
for endangered species is :

(A) Wild-life Sanctuaries
(B) Biosphere Reserve
(C) Cryopreservation
(D) National Parks
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Gir National Park is situated in :
(A) Assam

(B) Gujarat

(C) Rajasthan

(D) Punjab

Which of the following is not related to
desert plants ?

(A) Thorny Tree

(B) Bushes

(C) Cactus

(D) Deodar

Which of the following food chain directly
depends on solar radiation ?

(A) Parasitic food chain
(B) Grazed food chain

(C) Detritus food chain
(D) None of these

Blue revolution is related to :
(A) Silk production

(B) Clean atmosphere

(C) Water conservation
(D) Fish production
CAJRI is situated in :

(A) Jodhpur

(B) Bikaner

(C) Shriganganagar

(D) Jaipur

A species of immediate
extinction is called :

(A) Rare

(B) Endangered

(C) Endemic

(D) All of these

World Biodiversity Day is celebrated on :
(A) 22 April

(B) 16 September

(C) 5 June

(D) 2 February
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Theory of Human
proposed by :

(A) T.R. Malthus
(B) A.R. Wallace
(C) Charles Darwin
(D) J.B. Lamarck

Percent of energy transferred from one

trophic level to other is :

(A) 15%

(B) 90%

©) 20%

(D) 10%

The virus causing AIDS is :

(A) HMV

(B) HIV

(©) T™™V

(D) TLC

Which of the following gas cause of acid

rain ?

(A) Hydrogen

(B) Carbon dioxide

(C) Methane

(D) Sulphur dioxide and Nitrogen
dioxide

Richter Scale is used to measure :

(A) Volcano

(B) Earthquake

(C) Forest tire

(D) None of these

Rawatbhata Nuclear Power Plant is
situated in :

(A) Kota

(B) Banswara
(C) Chittorgarh
(D) Baran

Which one of the following is related to
the control of ozone depletion mainly ?

(A) Toronto Conference
(B) Rio Conference

(C) Montreal Protocol
(D) Kyoto Protocol

Population was
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Zawar mines are famous for :

(A) Gold

(B) Coal

(C) Iron

(D) Zinc

Which of the following gases
responsible for Bhopal Gas Tragedy ?
(A) Methyl Isobromide

(B) Methyl Isocyanide

(C) Methyl Isochloride

(D) Carbon Monoxide

Talchhapar is famous for :

(A) Wolf

(B) Bear

(C) Flying squirrel

(D) Black deer

Plants take-up nitrogen in the form of :

(A) Nitrite

(B) Ammonia

(C) Nitrate

(D) Sulphate

Sariska Tiger Reserve is located in :
(A) Bharatpur

(B) Banswara

(C) Alwar

(D) Udaipur

State Bird of Rajasthan is :
(A) Peacock

(B) Great Indian Bustard
(C) Pigeon

(D) Parrot

London smog happened in :
(A) 1952

(B) 1943

(C) 1992

(D) 2002
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Full form of IUCN is :

(A) International Union for Conservation
of Nature

(B) Interning Union for Compressed
Nature

(C) International Unit for Conservation
of Nature

(D) None of these

Headquarters of WWF is located in :

(A) America

(B) Canada

(C) France

(D) Switzerland

Number of Biogeographical zones of India

is:

(A) 20

(B) 30

C) 8

(D) 10

Which of the following is a Ramsar Site ?

(A) Pushkar Lake

(B) Didwana Lake

(C) Sambhar Lake

(D) Kolayat Lake

Aakal Fossil Park is located in :

(A) Jodhpur

(B) Barmer

(C) Jaisalmer

(D) Bikaner

In which district is Mangla Oil Field

situated ?

(A) Jaisalmer

(B) Sanchore

(C) Jalor

(D) Barmer

100. Tuberculosis is caused by :

TP-4

(A) Virus

(B) Bacteria

(C) Fungi

(D) None of these
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IUCN &1 90 M ¥ :
(A) International Union for Conservation
of Nature
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Nature

(C) International Unit for Conservation
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10.
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Four alternative answers are mentioned for
each question as (A), (B), (C) and (D) in the
Booklet. The candidate has to choose the
most appropriate answer and mark the same
in the OMR Answer-Sheet as per the
direction :

For Example :
Question :

. ® @ ©O 0O

2. ® ® @ O

Illegible
overwriting will be cancelled.

answers with cutting and

In case the candidate does not fill the
appropriate circle in the Answer-Sheet and
leaves blank, ‘Zero’ mark will be given.

The candidate has to mark carefully as per
direction the answers on the OMR Answer-
Sheet with black or blue ball point pen only.

Strict directions are hereby given to the
examinee to refrain from correction of their
earlier marked answer in OMR by rubbing or
scratching or using white fluid. In case of
violation of this instruction, examinee’s
result may not be processed or the examinee
may be declared disqualified in the exam.

The examinee shall hand over OMR Answer-
Sheet to the invigilator and can take carbon
copy of the OMR Answer-Sheet and question
booklet with himself.

Write your Scholar Number and other
required details in the space provided on the
title page of the booklet and on the OMR
Answer-Sheet with ink pen or ball pen. Do
not use lead pencil.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.
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